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Exercice 1

Compléter sans calculatrice :

◮1. 100 × 0,223 = . . . . . . . . . . . . . . . . . . . . .

◮2. 3,45 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

◮3. 1 000 × . . . . . . . . . . . . . . . . . . . . . . = 833

◮4. 42,8 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .

◮5. . . . . . . . . . . . . . . . . × 0,647 = 0,000 647

◮6. 6,09 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮7. 0,000 1 × 0,215 = . . . . . . . . . . . . . . . . . .

◮8. 10 × 7,73 = . . . . . . . . . . . . . . . . . . . . . . .

◮9. 0,01 × 8,58 = . . . . . . . . . . . . . . . . . . . . . .

◮10. 0,95 ÷ . . . . . . . . . . . . . . . . . . . = 0,009 5

◮11. . . . . . . . . . . . . . . . . . . . . . . × 42,8 = 4,28

◮12. 10 000 × 6,01 = . . . . . . . . . . . . . . . . . . .

Exercice 2

Compléter sans calculatrice :

◮1. 0,000 1 × 5,45 = . . . . . . . . . . . . . . . . . . .

◮2. . . . . . . . . . . . . . . . . . . . . . × 0,134 = 1,34

◮3. 10 000 × 60,2 = . . . . . . . . . . . . . . . . . . .

◮4. 0,276 ÷ 1 000 = . . . . . . . . . . . . . . . . . . .

◮5. 4,93 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

◮6. 100 × 15,1 = . . . . . . . . . . . . . . . . . . . . . .

◮7. 2,13 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .

◮8. . . . . . . . . . . . . . . . . . . . . . . × 85,2 = 8,52

◮9. 1 000 × 0,831 = . . . . . . . . . . . . . . . . . . .

◮10. . . . . . . . . . . . . . . . . . . . × 5,89 = 0,058 9

◮11. 0,001 × 0,834 = . . . . . . . . . . . . . . . . . . .

◮12. 8,59 ÷ 100 = . . . . . . . . . . . . . . . . . . . . . .

Exercice 3

Compléter sans calculatrice :

◮1. 10 × . . . . . . . . . . . . . . . . . . . . . . . . = 7,31

◮2. 0,01 × 74,2 = . . . . . . . . . . . . . . . . . . . . . .

◮3. 10 000 × 0,801 = . . . . . . . . . . . . . . . . . .

◮4. . . . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 0,076

◮5. . . . . . . . . . . . . . . . . ÷ 10 000 = 0,007 36

◮6. 1 000 × 1,98 = . . . . . . . . . . . . . . . . . . . . .

◮7. . . . . . . . . . . . . . . . . . ÷ 1 000 = 0,003 95

◮8. 0,000 1 × . . . . . . . . . . . . . = 0,000 018 3

◮9. 0,1 × 1,82 = . . . . . . . . . . . . . . . . . . . . . . .

◮10. 20,3 ÷ 100 = . . . . . . . . . . . . . . . . . . . . . .

◮11. 100 × 0,147 = . . . . . . . . . . . . . . . . . . . . .

◮12. . . . . . . . . . . . . . . . . . . × 7,44 = 0,007 44

Exercice 4

Compléter sans calculatrice :

◮1. 0,822 ÷ 100 = . . . . . . . . . . . . . . . . . . . . .

◮2. 10 × 3,13 = . . . . . . . . . . . . . . . . . . . . . . .

◮3. 0,000 1 × 9,21 = . . . . . . . . . . . . . . . . . . .

◮4. 0,953 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . .

◮5. 0,001 × 5,76 = . . . . . . . . . . . . . . . . . . . .

◮6. 1 000 × 38,7 = . . . . . . . . . . . . . . . . . . . . .

◮7. 10 000 × 95,8 = . . . . . . . . . . . . . . . . . . .

◮8. 0,1 × . . . . . . . . . . . . . . . . . . . . . . = 0,357

◮9. 45,7 ÷ 10 000 = . . . . . . . . . . . . . . . . . . .

◮10. 100 × 0,171 = . . . . . . . . . . . . . . . . . . . . .

◮11. . . . . . . . . . . . . . . . . . . . . . × 41,2 = 0,412

◮12. 0,2 ÷ . . . . . . . . . . . . . . . . . . . . = 0,000 2
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